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Interaction of Supply and Demand
 Transportation system is the product of 

two factors that act on each other:
 State of economy (produces demand)
 Extent and quality of the current system 

(constitutes the supply)

 Example: High unemployment and/or rising 
fuel costs lead to decrease in transportation

 Current COVID 19 pandemic crisis
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Interaction of Supply and Demand
 Figure 2.1 shows how demand in terms of traffic volume 

could vary with cost (e.g. a new bridge with toll):
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Interaction of Supply and Demand
 Figure 2.3 shows how the cost of a transportation 

system could increase as the traffic volume 
increases:
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Interaction of Supply and Demand
 The two curves (2.1 and 2.3) determine what volume (V) can be 

expected for a transportation system
 The figure below shows the equilibrium point V. Going beyond 

this point would make the cost go up and the demand drop
 Likewise, if V dropped below equilibrium, the cost goes down and 

demand increases
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